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Pre-AP Physics

Coulomb’s Law Problems
Solve each problem in the space provided. Be sure to show all work and box your answer(s).
1. Anelectron (with a charge of -1.6 x 10-19 Coulombs) is placed 0.13 meters

k
from a small metal sphere that is given a charge of +9.9 x 10-4 Coulombs. What Fg = thzqz
is the magnitude of the electric force acting on the charges? r
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2. Acharge of +7 uC is placed 150 centimeters away from a charge of +4 puC.
a. What is the magnitude of the electrostatic force between the charges?
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b. Is this force attractive or repulsive?
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3. Anelectron is placed 1.2 millimeters away from a charged metal block. The block and electron
each feel a repulsive force of 7.1 x 10-7 Newtons.
a. What s the net charge on the block?
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b. Isthe metal block positively charged or negatively charged?
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Fhe Seme sign as The electron.
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Coulomb’s Law Problems

4. A charge of -5uC and a charge of +4uC are placed so that they exert a force of 5.5 Newtons on
one another. How far apart are the charges? -
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5. Three charges are arranged along a single axis as in the diagram below.
q: =+19uC, g2 =-6puC, and gz = +11puC
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a. Whatisthe magmtude of the net force on qi?
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b. What is the magnitude of the net force on q;? F w
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6. Three charges are arranged as shown in the diagram to the right. 35pC
What is the magnitude and direction of the net force acting on g3 from the other F
charges? =~ "
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Coulomb’s Law Problems

7. The diagram below shows four charges arranged along a line.
g1 =75uC, q2 =180 uC, gz = 50 uC, and qs = 250uC
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What is the magnitude and direction of the net electrostatic force on q4?
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8. Three charges are arranged to form a right triangle, as in the diagram below. Their charges are

q1=6.00C, g2 = 2.00 C, and g3 = 5.00 C. What is the magnitude of the net electric force acting on
qz from the other charges? an] direct o)
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Coulomb’s Law Problems

9. Three charges are arranged as shown. What is the magnitude and direction of the force acting
on q: by the other two charges?
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10. Three charges are arranged as shown. What is the magnitude and direction of the force acting
on g3 by the other two charges?
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